

FAR NORTH LUZON GENERAL HOSPITAL AND TRAINING CENTER



Quirino, Luna, Apayao

INVITATION TO BID FOR SUPPLY AND DELIVERY OF VARIOUS LABORATORY SUPPLIES

1. The Far North Luzon General Hospital and Training Center, through the Internally Generated Income intends to apply the sum of Five Million Three Hundred Fifty-Six Thousand Five Hundred Sixty-Five Pesos & 02/100 (Php5,356,565.02) being the ABC to payments under the contract for Supply and Delivery of Various Laboratory Supplies / IB No. 2024-01-004-G. Bids received in excess of the ABC shall be automatically rejected at bid opening.

Item	Unit	Item Description	QTY	Unit Cost	Total Cost
No.					
1	PC	Escherichia coli ATCC 25922	1	4,860.00	4,860.00
2	PC	Staphylococcus aureus ATCC 25923	1	4,860.00	4,860.00
3	PC	Pseudomonas aeruginosa ATCC 27853	1	4,860.00	4,860.00
4	BOT	Tryptic Soy Broth Agar 500g	1	2,070.00	2,070.00
5	BOT	Himedia Blood Agar Base 500gms	4	7,450.00	29,800.00
6	BOT	Himedia MAC Conkey Agar 500gms	4	7,650.00	30,600.00
7	BOT	Himedia Lysine Iron Agar 500gms	1	7,500.00	7,500.00
8	BOT	BD Mueler Hinton Agar 500gms	2	8,900.00	17,800.00
9	BOT	BD Phenylethyl alcohol Agar 500gms	1	7,450.00	7,450.00
10	BOT	BD Selenite Broth Agar 500gms	1	7,450.00	7,450.00
11	BOT	Himedia TCBS Agar 500gms	1	7,450.00	7,450.00
12	BOT	Merck Tryptic Soy Agar 500gms	2	7,450.00	14,900.00
13	BOT	Condolab Columbia agar base 500gms	4	7,450.00	29,800.00
14	PACK	Phoenix Pipette Tips with Filter	8	2,905.00	23,240.00
15	BOT	INDIA INK	1	1,500.00	1,500.00
16	BOT	Denatured Alcohol 4L	1	1,200.00	1,200.00
17	PC	Disposable calibrated loop	3000	9.00	27,000.00
18	PC	ROOM Thermometer	1	3,500.00	3,500.00
19	BOT	10%KOH REAGENT	1	480.00	480.00
20	SET	MEDICS GRAM STAIN	6	3,500.00	21,000.00
21	PCS	BD Adult culture bots	200	599.00	119,800.00
22	PCS	BD Pedia culture bots	200	650.00	130,000.00
23	SET	Phoenix Spec Calibrator Kit	1	21,300.00	21,300.00
24	PC	Phoenix AST Indicator	4	2,193.33	8,773.32
25	PC	Phoenix AST-S Indicator	2	1,157.00	2,314.00
26	BOX	Tube Phoenix ID Broth	6	8,400.00	50,400.00
27	BOX	Tube Phoenix AST Broth	5	8,866.00	44,330.00
28	BOX	Panel Phoenix NMIC/ID	6	17,733.25	106,399.50
29	BOX	Panel Phoenix PMIC/ID	6	14,933.25	89,599.50
30	BOX	Panel Phoenix SMIC/ID	2	20,533.00	41,066.00
31	BOX	Panel Phoenix YEAST ID	2	10,500.00	21,000.00
I.REAG	ENTS/SUPPL	IES			
32	pack	XN550 Hematology cell pack- DCL	5	28,750.00	143,750.00
33	box	XN550 Hematology lysercell wdf	2	24,150.00	48,300.00
34	set	Hematology control XN550	2	21,850.00	43,700.00
35	pack	ADVIA 360/DILUENT CONS (20 L)	5	10,000.00	50,000.00
36	box	ADVIA 560 LYSE SP HEMATOLOGY RGT	2	31,000.00	62,000.00
37	bo	ADVIA 560 LYSE-2 HEMATOLOGY CONS	2	17,000.00	34,000.00
38	bottle	Advia 360/560 hard clean (100ml)	2	9,000.00	18,000.00
39	set	ADVIA 560 CONTROL SET	2	22,000.00	44,000.00
40	cartridge	Vitros Glucose	20	3,645.50	72,910.00

Contact No.: 0977-6235991 Website: fnlghtc.doh.gov.ph Email: fnlghtc@yahoo.com.ph





FAR NORTH LUZON GENERAL HOSPITAL AND TRAINING CENTER



Quirino, Luna, Apayao

		I			
41	cartridge	Vitros Cholesterol	15	3,011.08	45,166.20
42	cartridge	Vitros Triglyceride	15	4,488.00	67,320.00
43	cartridge	Vitros HDL	15	6,266.00	93,990.00
44	cartridge	Vitros BUN	15	4,239.50	63,592.50
45	cartridge	Vitros CREA	20	2,448.55	48,971.00
46	cartridge	Vitros BUA	15	4,158.00	62,370.00
47	cartridge	Vitros SGOT	15	3,922.50	58,837.50
48	cartridge	Vitros SGPT	15	3,271.00	49,065.00
49	cartridge	Vitros Total Bilirubin	5	3,581.00	17,905.00
50	cartridge	Vitros BUBC	5	3,581.00	17,905.00
51	cartridge	Vitros Amylase	5	4,064.00	20,320.00
52	cartridge	Vitros Magnesium	10	3,863.00	38,630.00
53	cartridge	Vitros- Albumin	6	3,445.00	20,670.00
54	cartridge	Vitros Total Protein	6	3,975.00	23,850.00
55	cartridge	Vitros Lipase	6	1,378.00	8,268.00
56	cartridge	Vitros Alkaline phospatase	8	3,580.00	28,640.00
57	cartridge	Vitros Lactate Dehydrogenase	5	4,505.00	22,525.00
58	cartridge	Vitros Phosporous	10	4,311.25	43,112.50
59	cartridge	Afias Tropononin I	15	5,500.00	82,500.00
60	box	Afias PSA	2	5,500.00	11,000.00
61	box	Afias CRP	5	5,500.00	27,500.00
62	box	Afias HBA1c	12	5,500.00	66,000.00
63	box	Finecare FT3 x 25	10	16,000.00	160,000.00
64	box	Finecare FT4 x 25	20	16,000.00	320,000.00
65	box	finecare tsh x 25	20	16,000.00	320,000.00
66	box	Finecare Ferritin	5	16,000.00	80,000.00
67	box	Easylyte Expand (Na,K,Cl,Ica)	3	30,000.00	90,000.00
68	box	Easylyte plus Reagent (Na,K,Cl)	3	25,000.00	75,000.00
69	box	Easylyte Daily cleaning solution	2	10,000.00	20,000.00
70	box	Hemoglucose strip x 50's strip	150	1,000.00	150,000.00
71	set	D10 Hba1c	1	159,000.00	159,000.00
72	box	Facemask/50	50	120.00	6,000.00
73	box	HBSAG-RAPID X 30	40	6,500.00	260,000.00
74	box	HCV RAPID X 30	2	6,500.00	13,000.00
75	box	RPR RAPID X 30	40	10,000.00	400,000.00
76	box	Fecal occult blood kit x 100	4	15,000.00	60,000.00
77	box	Pregnancy test kit x 40	10	1,500.00	15,000.00
78	bottle	Urine reagent strip- 4 parameters	20	600.00	12,000.00
79	box	Microtainer EDTA- x 100	50	1,970.00	98,500.00
80	pack	Vacutainer tube-Blue Top x100	5	1,200.00	6,000.00
81	pack	Vacutainer tube-EDTA Top x 100	100	1,298.00	129,800.00
82	pack	Vacutainer tube- yellow top x 100	100	1,000.00	100,000.00
83	box	Glass slide frosted	15	100.00	1,500.00
84	box	Glass slide plain	15	80.00	1,200.00
85	pack	Syringe- 3 ml	50	800.00	40,000.00
86	box	Syringe- 5 ml	50	950.00	47,500.00
87	bottle	70% Ethyl Alcohol	60	54.00	3,240.00
88	roll	Examination gloves-small	30	250.00	7,500.00
89	box	Examination gloves-medium	30	250.00	7,500.00
90	box	Examination gloves- large	30	250.00	7,500.00
91	bottle	Cobas integra cleaner	3	7,500.00	22,500.00
92	box	C111-Creatinine	5	21,925.00	109,625.00
93	box	C111-Triglyceride	3	12,000.00	36,000.00
94	box	C111-HDL	3	39,500.00	118,500.00
95	box	C111-Glucose	3	14,600.00	43,800.00
96	box	C111-Total Cholesterol	3	14,600.00	43,800.00
97	box	C111-BUN-Urea nitrogen	3	14,000.00	42,000.00
98	box	C111-BUA- uric acid	3	11,000.00	33,000.00
70	UUA	CITI-DUA- une acid	<u>J</u>	11,000.00	33,000.00

Contact No.: 0977-6235991 Website: fnlghtc.doh.gov.ph Email: fnlghtc@yahoo.com.ph SOCOTEC ISO 9001



FAR NORTH LUZON GENERAL HOSPITAL AND TRAINING CENTER



Quirino, Luna, Apayao

- 2. The *Far North Luzon General Hospital and Training Center* now invites bids for the above Procurement Project. Delivery of the Goods is required by *30 Calendar days upon receipt of NTP*. Bidders should have completed, within *Two (2) years* from the date of submission and receipt of bids, a contract similar to the Project. The description of an eligible bidder is contained in the Bidding Documents, particularly, in Section II (Instructions to Bidders).
- 3. Bidding will be conducted through open competitive bidding procedures using a non-discretionary "pass/fail" criterion as specified in the 2016 revised Implementing Rules and Regulations (IRR) of Republic Act (RA) No. 9184.
 - a. Bidding is restricted to Filipino citizens/sole proprietorships, partnerships, or organizations with at least sixty percent (60%) interest or outstanding capital stock belonging to citizens of the Philippines, and to citizens or organizations of a country the laws or regulations of which grant similar rights or privileges to Filipino citizens, pursuant to RA No. 5183.
- 4. Prospective Bidders may obtain further information from *Far North Luzon General Hospital* & *Training Center, Procurement Office- Administrative Building* and inspect the Bidding Documents at the address given below during *Monday Friday 8:00AM 5:00PM*.
- 5. A complete set of Bidding Documents may be acquired by interested Bidders on **November 18, 2023- December 11, 2023** from the given address and website(s) below upon payment of the applicable fee for the Bidding Documents, pursuant to the latest Guidelines issued by the GPPB, in the amount of *Ten Thousand Pesos (Php10,000.00)*. The Procuring Entity shall allow the bidder to present its proof of payment for the fees in person, by facsimile, or through electronic means.
- 6. The *FNLGHTC* will hold a Pre-Bid Conference¹ on *November 28, 2023, 2:00 pm* at *FNLGHTC, DAD's Hall Administrative Building* which shall be open to prospective bidders.
- 7. Bids must be duly received by the BAC Secretariat through manual submission at the office address indicated below, on or before *December 11, 2023, 1:00 pm*. Late bids shall not be accepted.
- 8. All Bids must be accompanied by a bid security in any of the acceptable forms and in the amount stated in **ITB** Clause 14.
- 9. Bid opening shall be on *December 11, 2023, 2:00 pm*. at the given address below. Bids will be opened in the presence of the bidders' representatives who choose to attend the activity.
- 10. The *Far North Luzon General Hospital and Training Center* reserves the right to reject any and all bids, declare a failure of bidding, or not award the contract at any time prior to contract award in accordance with Sections 35.6 and 41 of the 2016 revised IRR of RA No. 9184, without thereby incurring any liability to the affected bidder or bidders.

Contact No.: 0977-6235991 Website: fnlghtc.doh.gov.ph Email: fnlghtc@yahoo.com.ph SOCOTEC ISO 9001

¹ May be deleted in case the ABC is less than One Million Pesos (PhP1,000,000) where the Procuring Entity may not hold a Pre-Bid Conference.



FAR NORTH LUZON GENERAL HOSPITAL AND TRAINING CENTER



Quirino, Luna, Apayao

11. For further information, please refer to:

[JULIET A. CABRERA]
[PROCUREMENT OFFICE]
[FAR NORTH LUZON GENERAL HOSPITAL & TRAINING
CENTER, QUIRINO LUNA, APAYAO]
[julietcabrera30@yahoo.com]
[0918-9065148]

12. You may visit the following websites:

For downloading of Bidding Documents: https://fnlghtc.doh.gov.ph/

November 17, 2023



Contact No.: 0977-6235991 Website: fnlghtc.doh.gov.ph Email: fnlghtc@yahoo.com.ph

